
Q.1 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

39, 53, 69, 87, ?

Ans 1. 92

2. 107

3. 99

4. 115

Question ID : 65497841970

Status : Answered

Chosen Option : 2

Q.2 चारवी और वैˁवी की वतŊमान आयु का अनुपात 4 : 5 है। युिवका, चारवी से 2 वषŊ बड़ी है लेिकन
वैˁवी से 5 वषŊ छोटी है। वैˁवी की वतŊमान आयु ǒात कीिजए।

Ans 1. 42 वषŊ

2. 25 वषŊ

3. 35 वषŊ

4. 28 वषŊ

Question ID : 65497844094

Status : Answered

Chosen Option : 3
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Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842583

Status : Answered

Chosen Option : 1



Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844104

Status : Answered

Chosen Option : 3

Q.5 अƗरो ं के उस संयोजन का चयन करŐ जो दी गई Şंखला मŐ įरƅ ̾थानो ं पर Ţिमक ŝप से रखे जाने पर
Şंखला को पूणŊ करेगा।

K _ _ N L _ N K _ N _ L N K _ M _ L M _

Ans 1. L, M, M, M, K, L, K, N

2. L, M, M, K, K, L, N, N

3. M, M, L, K, K, L, K, N

4. L, M, M, K, K, M, K, N

Question ID : 65497844617

Status : Not Answered

Chosen Option : --

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844302

Status : Answered

Chosen Option : 2



Q.7 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

2, 31, 4, 37, 10, 41, 28, 43, 82, 47, ?

Ans 1. 224

2. 244

3. 242

4. 422

Question ID : 65497844294

Status : Answered

Chosen Option : 2

Q.8 उस अƗर-समूह का चयन करŐ जो िनɻिलİखत ŵंृखला मŐ Ůʲ िच˥ (?) के ̾थान पर आ सकता है ।

GHB, LMG, PQK, ?

Ans 1. PQE

2. STN

3. ABX

4. TSM

Question ID : 65497844282

Status : Answered

Chosen Option : 2



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842486

Status : Answered

Chosen Option : 4



Q.10 उस सही िवकʙ का चयन करŐ जो िदए गए शɨों को उसी Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी
शɨकोश मŐ होते हœ।

1. Projection
2. Professor
3. Product
4. Pronounce
5. Provide

Ans 1. 3, 2, 4, 1, 5

2. 3, 2, 1, 4, 5

3. 3, 2, 1, 5, 4

4. 2, 3, 1, 4, 5

Question ID : 65497843374

Status : Answered

Chosen Option : 2

Q.11 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार से संबंिधत है िजस Ůकार से दूसरी संƥा
पहली संƥा से संबंिधत है।

28 : 729 :: 32 : ?

Ans 1. 973

2. 961

3. 824

4. 738

Question ID : 65497842578

Status : Answered

Chosen Option : 2

Q.12 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो संƥाओ ं(अंक नही) को आपस मŐ बदलने
की आवʴकता है?

15 + 90 ÷ 9 × 5 – 11 = 28

Ans 1. 9 और 5

2. 15 और 5

3. 15 और 9

4. 11 और 9

Question ID : 65497842480

Status : Answered

Chosen Option : 3

Q.13 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है जैसे दूसरा पद पहले पद से संबंिधत है
।

DOGMATIC : EQHOBVJD :: PRODUCTS : ?

Ans 1. RTQFXDVU

2. RTQEWDWV

3. RTSEWDSQ

4. RTQEWDVU

Question ID : 65497844083

Status : Answered

Chosen Option : 2



Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842588

Status : Answered

Chosen Option : 3



Q.15 िकसी कूट भाषा मŐ, 3224 का अथŊ 'Taj is in Agra' है, और 4245 का अथŊ 'Agra is near Delhi' है। ‘I
like all Fruits’ के िलए िनɻिलİखत मŐ से िकस कूट का Ůयोग िकया गयाहै?

Ans 1. 2425

2. 1436

3. 2534

4. 1526

Question ID : 65497841965

Status : Answered

Chosen Option : 2

Q.16 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ जो िदए गए समीकरण मŐ * िच˥ो ं को Ţिमक ŝप से
बदलते Šए समीकरण को संतुिलत कर सकता है।

15*1411*83*137*218*100

Ans 1. ×,+,÷,−, =

2. +,−,×, =, ÷

3. ×,=,−,÷,+

4. ×,÷, =, +,−

Question ID : 65497844299

Status : Not Answered

Chosen Option : --

Q.17 िदए गए चार अƗर-समूहो ं से तीन िकसी न िकसी Ůकार से एक संगत हœ और एक उनसे असंगत है। उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. MJH

2. SPN

3. WUT

4. WTR

Question ID : 65497841961

Status : Answered

Chosen Option : 3

Q.18 यिद GATE को QKDO के ŝप मŐ कूटबȠ िकया जाता है, तो PLAN को िकस ŝप मŐ कूटबȠ िकया
जाएगा?

Ans 1. ZVKX

2. VFXK

3. ZVXK

4. FVKX

Question ID : 65497844614

Status : Answered

Chosen Option : 1



Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 65497841980

Status : Answered

Chosen Option : 4

Q.20 एक िनिʮत कूट भाषा मŐ 'TOMATO' को 40-30-26-2-40-30 और 'GINGER' को 14-18-28-14-10-36
के ŝप मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ, 'GARLIC' को िकस Ůकार कूटबȠ िकया जाएगा?

Ans 1. 14-1-18-24-18-3

2. 7-2-18-24-18-3

3. 7-1-36-12-9-6

4. 14-2-36-24-18-6

Question ID : 65497842570

Status : Answered

Chosen Option : 4



Q.21

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842483

Status : Answered

Chosen Option : 3

Q.22 राधा सɑाह के पांच अलग-अलग िदनो,ं सोमवार से शुŢवार तक पांच अलग-अलग रंगो ं लाल, हरे, पीने,
जामुनी और भूरे रंग के कपड़े पहनती है। वह बुधवार को लाल रंग के कपड़े पहनती है। वह सोमवार या
शुŢवार को हरे और भूरे रंग के कपड़े नही ं पहनती। पीले कपड़े पहनने के अगले िदन वह हरे रंग का
कपड़ा पहनती है। वह िकस िदन भूरे रंग के कपड़े पहनती है?

Ans 1. गुŝवार

2. सोमवार

3. शुŢवार

4. मंगलवार

Question ID : 65497842473

Status : Answered

Chosen Option : 4



Q.23 एक मेहमान को कौमुदी का पįरचय कराते Šए एक लड़के िमिहर ने कहा, "वह मेरी माँ के देवर की
इकलौती बेटी है"। िमिहर का कौमुदी से Ɛा संबंध है?

Ans 1. चाचा

2. िपता

3. भाई

4. चचेरा भाई

Question ID : 65497842472

Status : Answered

Chosen Option : 4

Q.24 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामाɊ ŝप से ǒात तȚो ं से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
कोई आलूबुखारा, खुबानी नही ं है।
सभी नीबूं, खुबानी हœ।
सभी अंगूर, नीबूं हœ।

िनʺषŊ:
I. कोई खुबानी, अंगूर नही ं है।
II. कोई अंगूर, आलूबुखारा नही ं है।
III. कोई नीबूं, आलूबुखारा नही ं है।
IV. कुछ आलूबुखारे, नीबूं हœ।

Ans 1. केवल िनʺषŊ I, II और IV अनुसरण करते हœ।

2. केवल िनʺषŊ II, III और IV सही हœ।

3. केवल िनʺषŊ II और III अनुसरण करते हœ।

4. केवल िनʺषŊ I, II और III अनुसरण करते हœ।

Question ID : 65497844292

Status : Answered

Chosen Option : 3

Q.25 िन̱नांिकत मैिटŌƛ का ȯानपूवŊक अȯयन कीिजए और िदए गए िवकʙों मŐ से उस संƥा का चयन
कीिजए जो उसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

7 9 5
3 8 ?
28 81 50

Ans 1. 9

2. 8

3. 5

4. 7

Question ID : 65497841974

Status : Answered

Chosen Option : 1

Section : General Awareness



Q.1 भारत की जनगणना 2011 के अनुसार, देश मŐ पांच वषŊ से कमआयु के बǄों की अनुमािनत रा Ō̓ ीय मृȑु
दर Ɛा थी?

Ans 1. 13

2. 34

3. 76

4. 55

Question ID : 65497841997

Status : Not Answered

Chosen Option : --

Q.2 िनɻिलİखत मŐ से िकस शहर मŐ 2020 एिशयाई कुʱी चœͤिपयनिशपआयोिजत की गई थी?
Ans 1. टोƐो

2. कोलंबो

3. बीिजंग

4. नई िदʟी

Question ID : 65497844330

Status : Answered

Chosen Option : 2

Q.3 2021-22 के कŐ ūीय बजट के अनुसार, एक वषŊ मŐ ______ लाख से अिधक भिवˈ िनिध योगदान पर
अिजŊत ɯाज कर योƶ हो जाएगा।

Ans 1. ₹1

2.  ₹2.5

3.  ₹2

4.  ₹1.5

Question ID : 65497842592

Status : Not Answered

Chosen Option : --

Q.4 2021 तक की İ̾थित के अनुसार, ओलंिपक पुŜष फीʒ हॉकी का मौजूदा चœͤिपयन कौन है?

Ans 1. बेİʏयम

2. अजŒटीना

3. जमŊनी

4. हॉलœड

Question ID : 65497844129

Status : Answered

Chosen Option : 2



Q.5 िवद्युत अिधिनयम, 2003 की धारा 141 के अनुसार सावŊजिनक लœप को बुझाने के िलए ______ तक
जुमाŊना लगाया जा सकता है।

Ans 1. ₹2,500

2. ₹5,000

3. ₹3,000

4. ₹2,000

Question ID : 65497842510

Status : Not Answered

Chosen Option : --

Q.6 नाइटŌ ोजन एक ______ तȕ है।
Ans 1. चतु˃रमाणु

2. बŠपरमाİǼक

3. िȪपरमाİǼक

4. एकपरमाİǼक

Question ID : 65497841990

Status : Answered

Chosen Option : 3

Q.7 ओजोन ______ ऑƛीजन परमाणुओं से बना Šआ एक अणु है।
Ans 1. एक

2. चार

3. तीन

4. दो

Question ID : 65497842498

Status : Answered

Chosen Option : 3

Q.8 िनɻिलİखत मŐ से कौन सा वणŊ धमŊसूũो ंऔर धमŊशा˓ों Ȫारा िनधाŊįरत िनयमो ं के अनुसार Ůाचीन भारत
मŐ लोगो ं की रƗा और Ɋाय के Ůशासन के िलए िजʃेदार था?

Ans 1. शूū

2. Ɨिũय

3. Űा˦ण

4. वैʴ

Question ID : 65497841998

Status : Answered

Chosen Option : 2



Q.9 कŐ ūीय बजट 2021-22 मŐ, जल जीवन िमशन (शहरी) के तहत ______ अमृत (AMRUT) शहरो ं मŐ तरल
अपिशʼ Ůबंधन Ůदान करने का Ůˑाव है।

Ans 1. 350

2. 400

3. 500

4. 150

Question ID : 65497842493

Status : Answered

Chosen Option : 3

Q.10 िमǥी की संरचना को गंभीर नुकसान होने से पहले, िमǥी िजस भार का सहन कर सकती है, उस भार
को आपƐा कहते हœ?

Ans 1. मृदा जलधाįरता

2. ̾थूल घनȕ

3. Ůितरोधक Ɨमता

4. धाįरता Ɨमता

Question ID : 65497844319

Status : Answered

Chosen Option : 1

Q.11 िनɻिलİखत मŐ से कौन सा ȑोहार अमाव˟ा के िदन आयोिजत िकया जाता है?

Ans 1. काली पूजा

2. महावीर जयंती

3. होली

4. दशहरा

Question ID : 65497844308

Status : Answered

Chosen Option : 1

Q.12 िनɻिलİखत मŐ से िकस दल ने बंगाल के िवभाजन के कदम का समथŊन िकया था?
Ans 1. ऑल इंिडया मुİˠम लीग

2. फॉरवडŊ ɰॉक

3. भारतीय कʄुिनː पाटŎ

4. गदर पाटŎ

Question ID : 65497844322

Status : Answered

Chosen Option : 1



Q.13 िनɻिलİखत मŐ से कौन सी समŝपता आŪŖपोड्स Ȫारा ŮदिशŊत की जाती है?

Ans 1. ̾थानांतरीय(Translational)

2. अƗीय (Axial)

3. िȪपाि Ŋ̫क (Bilateral)

4. अरीय (Radial)

Question ID : 65497844115

Status : Not Answered

Chosen Option : --

Q.14 समूह 16 के तȕ की सबसे बाहरी कƗा मŐ िकतने इलेƃŌ ॉन होते हœ?
Ans 1. 3

2. 6

3. 4

4. 5

Question ID : 65497844113

Status : Answered

Chosen Option : 3

Q.15 अिभनेता ______ को िफʝफेयर अवाड्Ŋस 2021 मŐ 'लाइफटाइम अचीवमŐट' पुरˋार से सʃािनत
िकया गया।

Ans 1. धमŒū

2. इरफान खान

3. अिमताभ बǄन

4. ऋिष कपूर

Question ID : 65497842506

Status : Answered

Chosen Option : 3

Q.16 भारत की संिवधान सभा की हाउस कमेटी के अȯƗ कौन थे?

Ans 1. के एम मंुशी

2. बी पǥािभ सीतारमैया

3. जे बी कृपलानी

4. ए वी ठſर

Question ID : 65497842006

Status : Answered

Chosen Option : 2

Q.17 जल उपचार की ऊणŊन (flocculation) िविध मŐ पानी मŐ ______ रसायन िमलाया जाता है।
Ans 1. वैद्युत ŝप से उदासीन

2. िनɻ ऋणावेिशत

3. धनावेिशत

4. उǄ ऋणावेिशत

Question ID : 65497844312

Status : Not Answered

Chosen Option : --



Q.18 'इंिडया िवɌ ůीडम' के लेखक िनɻिलİखत मŐ से कौन हœ?
Ans 1. जसवंत िसंह

2. अबुल कलाम आज़ाद

3. राजेȾ Ůसाद

4. जवाहर लाल नेहŝ

Question ID : 65497844124

Status : Answered

Chosen Option : 2

Q.19 िनɻिलİखत मŐ से कौन सी नदी कʳीर के दिƗण-पूवŎ भाग मŐ वेरीनाग मŐ एक झरने से िनकलती है?

Ans 1. सतलुज

2. झेलम

3. ɯास

4. चेनाब

Question ID : 65497842500

Status : Answered

Chosen Option : 2

Q.20 'नट्टुवनार (Nattuvanar) '______ नृȑ गायन संचालन करता है।
Ans 1. भरतनाǨम

2. कथक

3. कुिचपुड़ी

4. ओिडसी

Question ID : 65497841984

Status : Not Answered

Chosen Option : --

Q.21 िनɻिलİखत मŐ से कौन 2018 मŐ हाउगेसंुड (Haugesund), नॉवő मŐ आयोिजत नॉवőͤिजयन नेशनल अवॉडŊ
सेरेमनी मŐ 'बेː एƃर' का पुरˋार जीतने वाले पहले भारतीय बने?

Ans 1. आिदल Šसैन

2. नवाजुȞीन िसȞीकी

3. रणवीर शौरी

4. राम कपूर

Question ID : 65497842608

Status : Not Answered

Chosen Option : --



Q.22 भारतीय ˢतंũता आंदोलन के संदभŊ मŐ, िनɻिलİखत मŐ से िकस वषŊ को उस वषŊ मŐ घिटत घटना के साथ
सही सुमेिलत िकया गया है?

Ans 1.  1945 – अİखल भारतीय कांŤेस कमेटी ने बॉɾे मŐ बैठक की और 'भारत छोड़ो' Ůˑाव की पुिʼ की

2. 1915 –महाȏा गांधी दिƗण अůीका से लौटे

3.  1936 – Ůथम गोलमेज सʃेलन

4.  1944 – िȪतीय िवʷ युȠ मŐ िŰिटश युȠ के Ůयासों मŐ भारतीय सहयोग Ůाɑ करने के िलए िŰिटश
सरकार Ȫारा िŢɛ िमशन को भारत भेजा गया था

Question ID : 65497842606

Status : Answered

Chosen Option : 2

Q.23 आिथŊक सवőƗण 2020-2021 के अनुसार, िवȅीय वषŊ 2021-22 मŐ भारत की वाˑिवक जीडीपी मŐ
______ वृİȠ दजŊ करने का अनुमान है।

Ans 1. 13.5%

2. 11.0%

3. 10.8%

4. 12.3%

Question ID : 65497844108

Status : Not Answered

Chosen Option : --

Q.24 िनɻिलİखत मŐ से कौन सा राǛ 2020 मŐ Ťामीण Ɨेũो ं मŐ 100% नल जलआपूितŊ Ůदान करने वाला
भारत का पहला राǛ बन गया?

Ans 1. केरल

2. गोवा

3. िसİſम

4. िमजोरम

Question ID : 65497842597

Status : Answered

Chosen Option : 2

Q.25 बǄों के िलए िन:शुʋऔर अिनवायŊ िशƗा का अिधकार अिधिनयम या िशƗा का अिधकार (RTE)
अिधिनयम, भारत की संसद का एक अिधिनयम है जो वषŊ ______ मŐ लागू िकया गया है।

Ans 1. 2012

2. 2005

3. 2009

4. 2007

Question ID : 65497842610

Status : Answered

Chosen Option : 3

Section : Quantitative Aptitude



Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842820

Status : Answered

Chosen Option : 4

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842628

Status : Not Answered

Chosen Option : --

Q.3

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842033

Status : Answered

Chosen Option : 4



Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842533

Status : Not Answered

Chosen Option : --

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844332

Status : Answered

Chosen Option : 2

Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844666

Status : Answered

Chosen Option : 3

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842828

Status : Not Answered

Chosen Option : --



Q.8

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844150

Status : Not Answered

Chosen Option : --

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842526

Status : Not Answered

Chosen Option : --

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844454

Status : Not Answered

Chosen Option : --



Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842520

Status : Answered

Chosen Option : 3

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844131

Status : Answered

Chosen Option : 1

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844347

Status : Not Answered

Chosen Option : --

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842625

Status : Answered

Chosen Option : 2



Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842531

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842941

Status : Answered

Chosen Option : 4



Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844152

Status : Not Answered

Chosen Option : --

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844132

Status : Answered

Chosen Option : 3

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842523

Status : Answered

Chosen Option : 2



Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842633

Status : Not Answered

Chosen Option : --

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844337

Status : Not Answered

Chosen Option : --

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842622

Status : Not Answered

Chosen Option : --

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842631

Status : Not Answered

Chosen Option : --



Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842017

Status : Not Answered

Chosen Option : --

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842023

Status : Not Answered

Chosen Option : --

Q.1 Select the most appropriate ANTONYM of the given word.

Devious

Ans 1. Crafty

2. Crooked

3. Sincere

4. Dishonest

Question ID : 65497842053

Status : Answered

Chosen Option : 3

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

While the online class was going on, they had to keep their cameras on.

Ans 1. have kept their cameras on

2. No substitution required

3. had keep the camera on

4. are keeping their camera on

Question ID : 65497844370

Status : Answered

Chosen Option : 2

Section : English Comprehension



Q.3 Select the most appropriate synonym of the given word.

Perjury

Ans 1. Penury

2. Melancholy

3. Falsehood

4. Frankness

Question ID : 65497842657

Status : Answered

Chosen Option : 3

Q.4 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Take care/ for keep/ your valuables safely.

Ans 1. Take care

2. No error

3. for keep

4. your valuables safely

Question ID : 65497843448

Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate synonym of the given word.

Threshold

Ans 1. doorway

2. window

3. exit

4. stairs

Question ID : 65497844171

Status : Answered

Chosen Option : 1

Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Nowadays, common people take / interest in the manner / in which / they were
governed.

Ans 1. in which

2. interest in the manner

3. they were governed

4. Nowadays common people take

Question ID : 65497842037

Status : Answered

Chosen Option : 2



Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There have been / three breaks-in / in our society / this month.

Ans 1. this month

2. There have been

3. in our society

4. three breaks-in

Question ID : 65497842642

Status : Answered

Chosen Option : 4

Q.8 Select the option that expresses the given sentence in passive voice.

You could put your money to good use.

Ans 1. Your money could be put to good use.

2. Your money could have been put to good use.

3. Your money is being put to good use.

4. Your money has been put to good use.

Question ID : 65497844159

Status : Answered

Chosen Option : 1

Q.9 Select the option that expresses the given sentence in indirect speech.

“Please allow me to leave now,” Ritika said to her teacher.

Ans 1. Ritika requested her teacher to allow me to leave then.

2. Ritika requested her teacher to allow me to leave now.

3. Ritika requested her teacher to allow her to leave then.

4. Ritika requested my teacher to allow her to leave now.

Question ID : 65497842046

Status : Answered

Chosen Option : 3

Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

I shall certainly write to you when I shall reach Bengaluru.

Ans 1. No substitution required

2. I reached

3. I reach

4. I am reaching

Question ID : 65497844169

Status : Answered

Chosen Option : 3



Q.11 Select the most appropriate ANTONYM of the given word.

OCCUPIED

Ans 1. Free

2. Late

3. New

4. Vast

Question ID : 65497844375

Status : Answered

Chosen Option : 1

Q.12 Select the most appropriate option to fill in the blank.

All the guests were shocked at his ______ laughter.

Ans 1. Unrestrained

2. Unrecognised

3. Unresolved

4. Unremarkable

Question ID : 65497842564

Status : Answered

Chosen Option : 1

Q.13 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. But instead of asking the guest to rest, he said, “I have arranged to take you for
Shikar.”
B. The host welcomed him warmly.
C. At last he arrived at the beautiful city.
D. Great preparations were made for Amir of Isfahan’s journey to Shiraz.

Ans 1. BDCA

2. DCAB

3. CADB

4. DCBA

Question ID : 65497844170

Status : Answered

Chosen Option : 4

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

One who knows everything

Ans 1. Invincible

2. Experienced

3. Naïve

4. Omniscient

Question ID : 65497842562

Status : Answered

Chosen Option : 4



Q.15 Select the most appropriate meaning of the given idiom.

To bury the hatchet

Ans 1. To stop talking to someone

2. To bury old things

3. To end a quarrel

4. To fight with someone

Question ID : 65497842055

Status : Answered

Chosen Option : 3

Q.16 Select the correct passive voice of the given sentence.

She has read all the plays of Shakespeare.

Ans 1. All the plays of Shakespeare were read by her.

2. All the plays of Shakespeare are read by her.

3. All the plays of Shakespeare had been read by her.

4. All the plays of Shakespeare have been read by her.

Question ID : 65497842645

Status : Answered

Chosen Option : 4

Q.17 Select the most appropriate meaning of the given idiom.

Easy money

Ans 1. Make money without much effort, maybe illegally

2. Collect someone’s cash for them easily

3. Work hard to earn a large salary without telling anyone

4. Have no difficulty in collecting money that is due

Question ID : 65497844377

Status : Answered

Chosen Option : 1

Q.18 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He / can have been / more polite / to her.

Ans 1. to her

2. more polite

3. He

4. can have been

Question ID : 65497843045

Status : Answered

Chosen Option : 4



Q.19  Select the INCORRECTLY spelt word.

Ans 1.  Partner

2.  Digonal

3.  Oblique

4.  Tenure

Question ID : 65497842664

Status : Answered

Chosen Option : 2

Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A seat for a passenger on a bicycle or motorbike

Ans 1.  Girdle

2.  Cushion

3.  Pillion

4.  Bridle

Question ID : 65497842662

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Not a year passes without a controversy over the national sports awards. The debate that
(1)__________ every year following the announcement of the (2)__________ often leads to
accusations of bias, regionalism and manipulations. (3)___________ to the Sports Minister
and Chief Ministers and (4)___________by the politicians have all become part of the
(5)_____________.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1

Ans 1. rise

2. rose

3. arises

4. arose

Question ID : 65497842546

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Not a year passes without a controversy over the national sports awards. The debate that
(1)__________ every year following the announcement of the (2)__________ often leads to
accusations of bias, regionalism and manipulations. (3)___________ to the Sports Minister
and Chief Ministers and (4)___________by the politicians have all become part of the
(5)_____________.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2

Ans 1. gifts

2. donations

3. rewards

4. awards

Question ID : 65497842547

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Not a year passes without a controversy over the national sports awards. The debate that
(1)__________ every year following the announcement of the (2)__________ often leads to
accusations of bias, regionalism and manipulations. (3)___________ to the Sports Minister
and Chief Ministers and (4)___________by the politicians have all become part of the
(5)_____________.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no.3

Ans 1. Exhibitions

2. Illustrations

3. Delegations

4. Representations

Question ID : 65497842548

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Not a year passes without a controversy over the national sports awards. The debate that
(1)__________ every year following the announcement of the (2)__________ often leads to
accusations of bias, regionalism and manipulations. (3)___________ to the Sports Minister
and Chief Ministers and (4)___________by the politicians have all become part of the
(5)_____________.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4

Ans 1. interjections

2. intersections

3. interventions

4. intermissions

Question ID : 65497842549

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Not a year passes without a controversy over the national sports awards. The debate that
(1)__________ every year following the announcement of the (2)__________ often leads to
accusations of bias, regionalism and manipulations. (3)___________ to the Sports Minister
and Chief Ministers and (4)___________by the politicians have all become part of the
(5)_____________.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5

Ans 1. jest

2. sport

3. line

4. game

Question ID : 65497842550

Status : Answered

Chosen Option : 2


